
Okrajová úloha pro obecnou rovnici
F(x, y, u, ux, uy) = 0, u

(
X(σ), Y(σ)

)
= g(σ)

Označení p = ux, q = uy : F(x, y, u, p, q) = 0

počáteční úloha pro
charakteristický systém

dx
ds

= Fp(x, y, u, p, q), x(0) = X(σ)

dy
ds

= Fq(x, y, u, p, q), y(0) = Y(σ)

du
ds

= pFp(x, y, u, p, q) + qFq(x, y, u, p, q), u(0) = g(σ)

dp
ds

= −Fx(x, y, u, p, q)− pFu(x, y, u, p, q), p(0) = p0
dp
ds

= −Fy(x, y, u, p, q)− qFu(x, y, u, p, q), p(0) = q0

při tom: F
(
X(σ), Y(σ), g(σ), p0, q0) = 0

p0X ′(σ) + q0Y ′(σ) = g′(σ)

-
řešení

počáteční
úlohy

x = x(s, σ)
y = y(s, σ)

u = u(s, σ)

p = p(s, σ)
q = q(s, σ)

charakteristický
pruh

parametrické
vyjádření
řešení úlohy
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